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Section A {20 marks)

Quastions 1 to 10 carry 2 marks each.

For each question, four choices are given. Choose the correct answer and
write its number {4, 2, 3 or 4) in'the brackets ('} provided.

1. 4dtens Qones = .

ms

(2) 40

(3) 49

(4) 409 (

2 g+9+9+9+9= X9

()5

AR

(3) 36

445 ' (

3 Which of the following fractions is the smallest?
1
M3
1
2) "y
1
)

@z (

b




4.

A

1 ook at the diagram below.

.

=3

e ey S et e

Alex

{1) Alex
(2) Ben
(3) Cody
{4) Dan

The mass of the pack of flour is

{1) 30Cg
{(2) 3509
(3) 400g
(4) 450 g

3

29 -



6.  The total amount of money shown below s __

. N\

s ‘
50 = )
$ o
—
$10 $2 -
\_ | ﬂJ
- {1) 36745
{2) $69.45
' (3) $70.45
(4) $70.90 {( )

7. Whatis the fraction of the shaded part?

(1)

(2)

(3)

(4)

With tilw oln ol w




The sum of 435 and 363 is

{1)se8

(2) 708

(3) 798 )

{4) 808 | « )

(1) 133
(2) 134
(3) 144
(4) 234 { )

Look at the picture below.
What is the volume of the pot?

L

{(1)6 ¢
()2 ¢
@3¢
{4) 10 ¢ ()



Section B (60 marks)

Questions 11 to 40 carry 2 marks each.

Write your answers in the boxes provided.

is in the tens place.

in 809, the digit

11.

The sumof 122 and 643 is

12.

Answer:

Wiite a multiplication sentence for the picture above.

13.




14.

16.

£l in the blanks with the word ‘longey” or ‘shorter’. :

] ] t 1 L ]

by ! toofhbrush 1 :

P T I~ m—— .

2 - ) ¥ 1

1 £ ) -1
) _:.4:

E = . b
4 H e

(2) The dental floss is _ | than the toothpaste.

(b) The foothbrush is than the tecthpaste.

Draw an arrow on the scale to show that the coolies weigh 370 g.

. 5-:
LAy
" 4

- e o Ao AR

sy I

} Cookips.
CZ

Capo - 2

300 20

g
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16. What is the total volume of water in both containers?

~ Confainer A- Container B

Ahswer: o L

i7. Arrange the fractions below in order, beginning with the greatest.

2
7

7
7

18. Study the figure below.

Py ¥

(2) What is the length of Line A? Answer:

(b} What is the length of Line B? Answer:




18. Study the scale below.
What is the mass of the 3 peaches?

20,  Study the sum below and fill in the blanks below.

5 2
+ 2 | ' 8
9 9 0
21. ) tens -~ 7 ones = 193
Answer:
9

357



22.  The difference between the greatest 3 digit number-and 527 is

Answer:
23.  Mrs Lee gave 5 boys and 4 girls 2 sweets each.
How many sweets did Mrs Lee give away?
sweels
24. Henry has 24 marbles.
He puts 4 marbles in one jar.
How many jars does-he nesd?
Answer; jars
25,
What is the height of one tin of milk?
Answer; cm




26.

27.

28.

29.

Study the diagram below and answer questions 26 to 28.

| =
10kg

7aN

'iia
Tt

kg-

The mass of

The mass of R kg
=== O U E::> 1t

8!
tank

How many glasses of water are needed fo fill up the tank?

®

S_— o
The mass of \ is
Y=/

Answer:

glasses

i1
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30. Look at the diagram below. -

Ahmad bough; 4 toy cars, 1 toy train and 2 toy acroplanes.
How much did he spend aliogether?

Answer;

31. Karen bought a cake and cut it into 8 equal pieces.
She ate 7 pleces of the cake.
What fraction of the cake was left?

Answer;
32, What fraction of the figure below is shaded?
Answ_ec




Study the graph below carefully and answer questions 33 and 34.

Number Of Cupcakes Bought

HHOD

S
=9

OOOO0

Al Bala ~ Carl
| Each % stands for 4 cupcakes
33.  Alibought o ~ _ -.fewer cupcakes than Darren.

Answer: |

34, If each cupcake cost 50 cents, how much did Carl pay for his cupcakes?

Answer] ¥
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35.

37.

38.

A pizza was cut into 12 equal slices.
Peieratei—sz-of_tl'lepizza.

His sister ate 2 slices of the pizza.
What fraction of the pizza was lefi?

Jane has 50 stamps.
She has 12 stamps more than Bala.
How many stamps does Bala have?
Answer: stamps
- Tom bought 7 shirts.
He gave the cashier $100.
How much change did he receive?
Bob has $20. How many mangoes can he buy at most?
Mangoes
S3each
Answer: mangoes

14




39.

40.

3 similar pails A, B and C contained some waler as shown below.

PallA

Mrs Lee poured some water from pail C into pail Aand B
so that all of ihe 3 pails would have the same volume of water.
How much water was in each pail?

' . PaB " PallC

Answer;

1 am thinking of a 3-digit number.

it is hetween 800 and 900.

The tens digit is one more than the hundreds digit.
The ones digit is one less than the tens digit.
What is the number?

Answer:

i5

4



Section C (20 marks) _
Read the following questions carefully.
Show your workings clearly in the space provided. |

41. 350 men, 155 women and 72 children ook partin a race.
{a) How many adulfs took part in the race?
(b) How many fewer children than adulfs took part in the race?

(=)

) . - )

16

Wodking




42.

Mr Tan bought a bar of chocolate and cut it into 8 equal pieces.

He gave 2 pie'c&e to his son and 3 pieces to his daughter.

(&) What fraction of the bar of chocolate was given to Mr Tan'’s chlldren?
{b) What fraction of the bar of- chocolate was left?

17

42



Kelly had a sticker album with 6 pages.

From page ‘Ftopages shepastedsmckersoneachpage.
Onﬂie!astpage shepastedﬁshckem
Howmanyshckersdid Keﬂypastealtogeﬂ;er?

Working

13




A4 N Tan had 37 kg of rice.
He packed the rice equatly into 4 bags and had 5 kg left.
Whatwasmemassofeaéﬁ bag of rice?

19

Working

4y



45.  Mary had some money and she bought a dress which cost $22,
Then, her mother gave her another $15 and she had $20 in the end.
How much money did she have at fiast?

Waorking

= END OF PAPER =
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EXAM PAPER 2012

SCHOOL : ROSYTH SCHOOL

SUBJECT : PRIMARY 2 - MATHEMATICS
TERM : SA?2

SECTION A

1]02]Q3]04]051/ Q6] Q7 [Q8[0Q9 Q10

3i1}/41312}13]1]13}121]3

SECTION B

11. 0

12. 765

13.5X4 =20

14. a) shorter
b) longer

15. .

16. 80
17.7/7,5(7, 2/7 3
18.a) 27

b) 26
19. 240
20.

7

21. 20
22.472
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Answer Key


23.18
24.6
25.10
26.4
27.3
28.6

. 29.16
30. 140
31.1/8
32.3/10
33.16
34,4
35.5/12
36.38
37.30
38.6
39.8
40. 898

SECTION C

41.a) 350 + 155 = 505 _
505 aduits took part in the race.

b) 505 - 72 = 433
There were 433 fewer children than adults taking part in the race.

42.a)2/8 + 3/8 =5/8
5/8 of the chocolate was given to Mr Tan's children.

b)8/8-5/8=13/8
3/8 of the chocolate bar was left.

143.8x5=40
40+ 45 =85
Kelly pasted 85 stickers altogether.

44. 37kg — 5kg = 32kg
32kg + 4 = 8kg
The mass of each bag of rice is 8kg.

45.$20 - $15 = $5

$5 +$22 = $27
She had $27 at first.
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